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Fig. 1. continued
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Fig. 2.
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Fig. 4.
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Fig. 4. continued
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Fig. 5. continued
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Fig. 8.
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Supplementary Fig. S1.

(A)
+ RECQLS5 (10 nM)
(Min) o 1 2 5 10 1530

—a ws e
— | S ———

(B)
+ RECQL5 (10 nM)
(Min) o 1 2 5 10 15 30

—_%

—— PRPNy
— S ———

(Nw G'0) dLV

(®)

+ RECQLS5 (10 nM)
(Min) o 12 2 5 10 1530

(Nw T) d1V

|

(AW 2) d1Vv

(D)

+ RECQLS5 (10 nM)
(Min) o 1 2 5 10 15 30

]

(Nw €) d1v

(E)

+ RECQL5 (10 nM)

(Min) 0 1 2 5 10 15 30
‘ >
T |
~
— | -

% Annealing
B
o

100 -+

% Annealing
N B O ®
o O O O O

100
80

% Annealing

100

% Annealing
N H o)) [o0e]
o o o o o

100 -+

A O ©
o o o

% Annealing

N
o

=¢—ATP 0.5 MM

0 10 20 30
Time (Min)

=4—ATP 1 mM

0 10 20 30

Time (Min)

4 ——ATP 2 MM

0 10 20 30
Time (Min)

7 =——ATP 3 mM

0 10 20 30
Time (Min)

| —==ATP 4 mM

0 10 20 30
Time (Min)



Supplementary Fig. S2.
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Supplementary Fig. S3.
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Supplementary Fig. S4.
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